# Painlevé classification of coupled Korteweg-de Vries systems 

Ayşe (Kalkanli) Karasu<br>Department of Physics, Faculty of Arts and Sciences, Middle East Technical University, 06531 Ankara, Turkey

(Received 9 April 1996; accepted for publication 27 January 1997)
In this work, we give a classification of coupled Korteweg-de Vries equations. We found new systems of equations that are completely integrable in the sense of Painlevé. © 1997 American Institute of Physics. [S0022-2488(97)01407-2]

## I. INTRODUCTION

The coupled Korteweg-de Vries (KdV) type equations have been the most important class of nonlinear evolution equations and are extensively studied by many authors. ${ }^{1-8}$ Recently, Svinolupov ${ }^{9,10}$ has introduced a class of integrable multicomponent KdV equations associated with Jordan algebras. We have shown that the Jordan-KdV systems have a Painlevé property. ${ }^{11}$ Very recently, ${ }^{12}$ Svinolupov's work was extended on KdV systems to a more general form,

$$
\begin{equation*}
q_{t}^{i}=b_{j}^{i} q_{x x x}^{j}+s_{j k}^{i} q^{j} q_{x}^{k} \tag{1}
\end{equation*}
$$

where $i, j, k=1,2, \ldots, N, q^{i}$ depend on the variables $x, t$, and $s_{j k}^{i}, b_{j}^{i}$ are constants. It is shown that there are infinitely many integrable subclasses of (1) having recursion operators,

$$
\begin{equation*}
R_{j}^{i}=b_{j}^{i} D^{2}+a_{j k}^{i} q^{k}+c_{j k}^{i} q_{x}^{k} D^{-1}+F_{l k j}^{i} q^{l} D^{-1} q^{k} D^{-1} \tag{2}
\end{equation*}
$$

where $a_{j k}^{i}, c_{j k}^{i}$ and $F_{l k j}^{i}$ are constants with

$$
\begin{equation*}
s_{j k}^{i}=a_{k j}^{i}+c_{j k}^{i}, \quad F_{l k j}^{i}=-F_{l j k}^{i} . \tag{3}
\end{equation*}
$$

In this work we applied the Painlevé test for PDE introduced by Weiss et al. ${ }^{13}$ to find the integrable subclasses of (1) when $N=2$. We consider a system of coupled KdV equations in the form

$$
\begin{align*}
& u_{t}=\eta_{1} u_{x x x}+\eta_{2} v_{x x x}+c_{1} u u_{x}+c_{2} u v_{x}+c_{4} v u_{x}+c_{3} v v_{x},  \tag{4}\\
& v_{t}=\mu_{1} v_{x x x}+\mu_{2} u_{x x x}+d_{1} u u_{x}+d_{2} u v_{x}+d_{4} v u_{x}+d_{3} v v_{x},
\end{align*}
$$

where

$$
\begin{aligned}
& u=q^{1}, \quad v=q^{2}, \quad \eta_{1}=b_{1}^{1}, \quad \eta_{2}=b_{2}^{1}, \quad \mu_{2}=b_{1}^{2}, \quad \mu_{1}=b_{2}^{2}, \quad c_{1}=s_{11}^{1}, \\
& c_{2}=s_{12}^{1}, \quad c_{4}=s_{21}^{1}, \quad c_{3}=s_{22}^{1}, \quad d_{1}=s_{11}^{2}, \quad d_{2}=s_{12}^{2}, \quad d_{4}=s_{21}^{2}, \quad d_{3}=s_{22}^{2} .
\end{aligned}
$$

The main problem is to find the conditions satisfied by $\eta_{l}, \mu_{l}, c_{n}, d_{n},(l=1,2 ; n=1,2,3,4)$ in order to have $P$ type-subclasses of (4).

## II. PAINLEVE ANALYSIS

Let $\phi=0$ be the singularity manifold of (4). By setting $u \approx u_{0} \phi^{\alpha_{1}}, v \approx v_{0} \phi^{\alpha_{2}}$ into the leading terms of (4), we have $\alpha_{1}=\alpha_{2}=-2$ and the equations for $u_{0}$ and $v_{0}$,

$$
\begin{equation*}
u_{0}^{2} c_{1}+u_{0} v_{0}\left(c_{2}+c_{4}\right)+v_{0}^{2} c_{3}+12 \phi_{x}^{2}\left(u_{0} \eta_{1}+v_{0} \eta_{2}\right)=0 \tag{5}
\end{equation*}
$$

$$
\begin{equation*}
u_{0}^{2} d_{1}+u_{0} v_{0}\left(d_{2}+d_{4}\right)+v_{0}^{2} d_{3}+12 \phi_{x}^{2}\left(u_{0} \mu_{1}+v_{0} \mu_{2}\right)=0 . \tag{6}
\end{equation*}
$$

To determine the resonances we set $u \approx u_{0} \phi^{-2}+\beta_{1} \phi^{\tau-2}, v \approx v_{0} \phi^{-2}+\beta_{2} \phi^{\tau-2}$ into the leading terms of (4) and obtain a sixth-order polynomial equation in $r$. One root of this polynomial must be -1 . Substituting $r=-1$ into the polynomial, we have the condition

$$
\begin{align*}
& 12 \phi_{x}^{2}\left\{u_{0}\left(\eta_{2} d_{1}-\mu_{1} c_{1}\right)+v_{0}\left[\eta_{2}\left(d_{2}+d_{4}\right)-\eta_{1} d_{3}+c_{3} \mu_{2}-\mu_{1}\left(c_{2}+c_{4}\right)\right]\right\} \\
& \quad+v_{0}\left[u_{0}\left(c_{3} d_{1}-c_{1} d_{3}\right)-v_{0} d_{3}\left(c_{2}+c_{4}\right)+v_{0} c_{3}\left(d_{2}+d_{4}\right)\right]-144 \phi_{x}^{4}\left(\eta_{1} \mu_{1}-\eta_{2} \mu_{2}\right)=0 \tag{7}
\end{align*}
$$

Together with (5), (6), (7) the equation for resonances becomes

$$
\begin{align*}
(r+ & 1)(r-4)(r-6)\left\{\left(\eta_{1} \mu_{1}-\eta_{2} \mu_{2}\right)\left(r^{3}-9 r^{2}\right) \phi_{x}^{2}+r\left[38\left(\eta_{1} \mu_{1}-\eta_{2} \mu_{2}\right) \phi_{x}^{2}\right.\right. \\
& \left.+u_{0}\left(\eta_{1} d_{2}-\eta_{2} d_{1}+\mu_{1} c_{1}-\mu_{2} c_{2}\right)+v_{0}\left(\eta_{1} d_{3}-\eta_{2} d_{4}+\mu_{1} c_{4}-\mu_{2} c_{3}\right)\right] \\
& +2\left[-36\left(\eta_{1} \mu_{1}-\eta_{2} \mu_{2}\right) \phi_{x}^{2}-u_{0}\left[\eta_{1}\left(d_{2}+d_{4}\right)-2\left(\eta_{2} d_{1}-\mu_{1} c_{1}\right)-\mu_{2}\left(c_{2}+c_{4}\right)\right]\right. \\
& \left.\left.+v_{0}\left[2\left(c_{3} \mu_{2}-d_{3} \eta_{1}\right)+\eta_{2}\left(d_{2}+d_{4}\right)-\mu_{1}\left(c_{2}+c_{4}\right)\right]\right]\right\}=0 \tag{8}
\end{align*}
$$

The three of the roots are $-1,4,6$. The others, say $r_{1}, r_{2}, r_{3}$, must be integers. This is possible if

$$
\begin{gather*}
\left(\eta_{1} \mu_{1}-\eta_{2} \mu_{2}\right) \phi_{x}^{2}\left(r_{1} r_{2} r_{3}-72\right)-2 u_{0}\left[\eta_{1}\left(d_{2}+d_{4}\right)-2\left(\eta_{2} d_{1}-\mu_{1} c_{1}\right)-\mu_{2}\left(c_{2}+c_{4}\right)\right] \\
+2 v_{0}\left[2\left(c_{3} \mu_{2}-d_{3} \eta_{1}\right)+\eta_{2}\left(d_{2}+d_{4}\right)-\mu_{1}\left(c_{2}+c_{4}\right)\right]=0,  \tag{9}\\
\left(\eta_{1} \mu_{1}-\eta_{2} \mu_{2}\right) \phi_{x}^{2}\left(r_{1} r_{2}+r_{2} r_{3}+r_{1} r_{3}-38\right)-u_{0}\left(\eta_{1} d_{2}-\eta_{2} d_{1}+\mu_{1} c_{1}-\mu_{2} c_{2}\right) \\
-v_{0}\left(\eta_{1} d_{3}-\eta_{2} d_{4}+\mu_{1} c_{4}-\mu_{2} c_{3}\right)=0,  \tag{10}\\
\quad\left(\eta_{1} \mu_{1}-\eta_{2} \mu_{2}\right)\left(r_{1}+r_{2}+r_{3}-9\right)=0 . \tag{11}
\end{gather*}
$$

At this point we have to divide the systems in (4) into two parts. ${ }^{12}$ These are the nondegenerate systems where $\left(\eta_{1} \mu_{1}-\eta_{2} \mu_{2}\right) \neq 0$ and the degenerate systems where $\left(\eta_{1} \mu_{1}-\eta_{2} \mu_{2}\right)=0$, that is, they reduce to lower-dimensional systems.

For the nondegenerate systems, the equation (11) implies that we have to have $r_{1}+r_{2}+r_{3}$ $=9$, which leads the following.

Case (1): $r_{1}=0, r_{2}=0, r_{3}=9$. In this case $u_{0}$ and $v_{0}$ must be arbitrary. But (9) and (10) imply that this is impossible unless $\left(\eta_{1} \mu_{1}-\eta_{2} \mu_{2}\right)=0$. Thus, test fails.

Case (2): $r_{1}=0, r_{2}$ may take one of the values (1,2,3,4), $r_{3}=9-r_{2}$. In these cases one of the functions $u_{0}$ or $v_{0}$ must be arbitrary. We assume that $u_{0}$ is arbitrary and $v_{0}=\alpha \phi_{x}^{2}+\beta$, where $\alpha$ and $\beta$ are independent from $\phi_{x}$. Then the equations (5), (6), (7), and (9) are satisfied if

$$
\begin{gather*}
c_{3}=0, \quad \eta_{2}=0, \quad \alpha=-\frac{12 \mu_{1}}{d_{3}}, \quad \beta=\frac{u_{0} c_{1}}{\left(c_{2}+c_{4}\right)}, \quad \eta_{1}=\frac{\left(c_{2}+c_{4}\right)}{d_{3}}, \\
\mu_{2}=\mu_{1}\left[\left(c_{2}+c_{4}\right)\left(d_{2}+d_{4}\right)-c_{1} d_{3}\right] / d_{3}\left(c_{2}+c_{4}\right)  \tag{12}\\
d_{1}=c_{1}\left[\left(c_{2}+c_{4}\right)\left(d_{2}+d_{4}\right)-c_{1} d_{3}\right] /\left(c_{2}+c_{4}\right)^{2}, \quad \text { where } d_{3} \neq 0, \quad c_{2}+c_{4} \neq 0, \quad \mu_{1} \neq 0 .
\end{gather*}
$$

These are the only exceptable solutions; all others violate the condition $\left(\eta_{1} \mu_{1}-\eta_{2} \mu_{2}\right) \neq 0$. For the above values of parameters we obtain the solutions of Eq. (10), which depends on $r_{2}$. Thus, we have four subcases with resonances $\left(0, r_{2}, 9-r_{2},-1,4,6\right)$. To discuss the arbitrariness of the
functions corresponding to resonances, we substitute $u=\sum_{j=0}^{8} u_{j} \phi^{j-2}, v=\sum_{j=0}^{8} v_{j} \phi^{j-2}$ into (4), for each case separately, and obtain the recursion relations for $u_{j}$ and $v_{j}$. By solving these relations we have the following results.

Case (2a): $r=0,1,8,-1,4,6, c_{4}=-3 c_{2}, c_{1}=-c_{2}\left(3 d_{2}+d_{4}\right) /\left(2 d_{3}\right)$. This test fails, because the functions corresponding to resonances $0,1,6$ are arbitrary without additional conditions, but $u_{4}$ or $v_{4}$ is arbitrary if $d_{3}=c_{2}\left(3 d_{2}+d_{4}\right) /\left(d_{4}-d_{2}\right)$ and $u_{8}$ or $v_{8}$ is arbitrary if $d_{2}=d_{4}$, which implies $\left(\eta_{1} \mu_{1}-\eta_{2} \mu_{2}\right)=0$.

Case (2b): $r=0,2,7,-1,4,6, c_{2}=0, c_{1}=c_{4} d_{2} / d_{3}$. The equations pass the test if $c_{4}=d_{3}$, $d_{4}=0$. Thus the system,

$$
\begin{align*}
& u_{t}=\mu_{1} u_{x x x}+d_{2} u_{x} u+d_{3} u_{x} v,  \tag{13}\\
& v_{t}=\mu_{1} v_{x x x}+d_{2} v_{x} u+d_{3} v_{x} v
\end{align*}
$$

is of the $P$ type, where $u_{0}, v_{2}, u_{4}, v_{6}, u_{7}$ are arbitrary functions of the solutions.
Case (2c): $r=0,3,6,-1,4,6, c_{4}=2 c_{2}, c_{1}=3 c_{2}\left(2 d_{2}-d_{4}\right) / d_{3}$. The test fails, since the equations under investigation would be of the $P$ type if $\mu_{1}=0$ or $d_{3}=0$, which violates the condition $\left(\eta_{1} \mu_{1}-\eta_{2} \mu_{2}\right) \neq 0$.

Case (2d): $r=0,4,5,-1,4,6, c_{2}=c_{4}, d_{2}=d_{4}$. In this case we obtained two subclasses of equations that are of the $P$ type. For the first, we have $d_{3}=2 c_{4}$ and $c_{1}=2 d_{4}$,

$$
\begin{align*}
& u_{t}=\mu_{1} u_{x x x}+2 d_{4} u_{x} u+c_{4}\left(u_{x} v+u v_{x}\right),  \tag{14}\\
& v_{t}=\mu_{1} v_{x x x}+d_{4}\left(u_{x} v+u v_{x}\right)+2 c_{4} v_{x} v,
\end{align*}
$$

which is the Jordan KdV system given by Svinolupov. ${ }^{9,10}$ For the second, we have $d_{3}=-c_{4}$ and $c_{1}=-d_{4}$,

$$
\begin{gather*}
u_{t}=-2 \mu_{1} u_{x x x}-d_{4} u_{x} u+c_{4}\left(u_{x} v+u v_{x}\right),  \tag{15}\\
v_{t}=-\frac{3 d_{4}}{2 c_{4}} u_{x x x}+\mu_{1} v_{x x x}-\frac{3 d_{4}^{2}}{4 c_{4}} u_{x} u+d_{4}\left(u_{x} v+u v_{x}\right)-c_{4} v_{x} v .
\end{gather*}
$$

For both of subclasses $u_{0}, u_{4}, v_{4}, u_{5}, v_{6}$ are arbitrary functions of the solutions.
Case (3) $r_{1}=1, r_{2}$ may take one of the values (1,2,3,4), $r_{3}=8-r_{2}$.
In these and the following cases, Eqs. (9) and (10) imply that $u_{0}$ and $v_{0}$ must be in the form $u_{0}$ $=\delta \phi_{x}^{2}, v_{0}=\alpha \phi_{x}^{2}$, where $\alpha$ and $\delta$ are constants. Using these in Eqs. (5), (6), (7), (9), (10), we find the conditions satisfied by $\eta_{l}, \mu_{l}, c_{n}, d_{n}, \alpha, \delta$ for different values of $r_{2}$ and $r_{3}$. Thus we have four subcases.

Case (3a): $r=1,1,7,-1,4,6$. Substituting $u=\sum_{j=0}^{7} u_{j} \phi^{j-2}, v=\sum_{j=0}^{7} v_{j} \phi^{j-2}$ into (4), we find that $u_{1}$ and $v_{1}$ are arbitrary functions if $\delta \eta_{1}+\alpha \eta_{2}=0, \delta \mu_{2}+\alpha \mu_{1}=0$. The solutions of these equations violate the condition $\left(\eta_{1} \mu_{1}-\eta_{2} \mu_{2}\right) \neq 0$, and the test fails.

Case (3b): $r=1,2,6,-1,4,6$. Substituting $u=\Sigma_{j=0}^{6} u_{j} \phi^{j-2}, v=\Sigma_{j=0}^{6} v_{j} \phi^{j-2}$ into (4) and requiring that Eqs. (5), (6), (7), (9), and (10) have to satisfy, we observe that two subclasses of (4) pass the Painlevé test. The first subclass is

$$
\begin{gather*}
u_{t}=\eta_{1} u_{x x x}-\frac{12 \eta_{1}}{\delta} u_{x} u+2 c_{2} u_{x} v+c_{2} v_{x} u-\frac{\delta c_{2}^{2}}{6 \eta_{1}} v_{x} v  \tag{16}\\
v_{t}=\eta_{1} v_{x x x}-\frac{6 \eta_{1}}{\delta} v_{x} u+c_{2} v_{x} v
\end{gather*}
$$

and the second subclass is

$$
\begin{gather*}
u_{t}=\eta_{1} u_{x x x}-\frac{\delta c_{4}}{4} v_{x x x}-\frac{12 \eta_{1}}{\delta} u_{x} u+c_{4} u_{x} v+2 c_{4} v_{x} u+c_{3} v_{x} v,  \tag{17}\\
v_{t}=-2 \eta_{1} v_{x x x}+\frac{12 \eta_{1}}{\delta} v_{x} u-c_{4} v_{x} v,
\end{gather*}
$$

where, in both cases, $\alpha=0, \delta \neq 0$ and $v_{1}, v_{2}, u_{4}, u_{6}, v_{6}$ are arbitrary functions. We observe that the second subclass reduces to the equations given by Hirota-Satsuma ${ }^{1,2,14}$ if $c_{4}=0, \delta=-2$,

$$
\begin{gather*}
u_{t}=\eta_{1}\left(u_{x x x}+6 u_{x} u\right)+c_{3} v_{x} v,  \tag{18}\\
v_{t}=-2 \eta_{1}\left(v_{x x x}+3 v_{x} u\right), \quad \text { where } \eta_{1}=a=\frac{1}{2}, \quad c_{3}=2 b .
\end{gather*}
$$

Case (3c): $r=1,3,5,-1,4,6$. In this case we obtain the system of equations passing the $P$ test,

$$
\begin{gather*}
u_{t}=-\frac{\delta c_{1}}{12} u_{x x x}+\frac{3 \delta c_{1}^{2}}{4 d_{1}} v_{x x x}+c_{1} u_{x} u-\frac{3 c_{1}^{2}}{d_{1}} u_{x} v-\frac{6 c_{1}^{2}}{d_{1}} v_{x} u,  \tag{19}\\
v_{t}=-\frac{\delta d_{1}}{12} u_{x x x}-\frac{7 \delta c_{1}}{12} v_{x x x}+d_{1} u_{x} u-c_{1} u_{x} v-2 c_{1} v_{x} u-\frac{6 c_{1}^{2}}{d_{1}} v_{x} v,
\end{gather*}
$$

where $\alpha=0, \delta \neq 0$ and $v_{1}, v_{3}, u_{4}, u_{5}, u_{6}$ are arbitrary functions of the solutions.
Case (3d): $r=1,4,4,-1,4,6$. This test fails since the number of arbitrary functions is less than the number of resonances.

Case (4): $r_{1}=2, r_{2}$ may take one of the values (2,3), $r_{3}=7-r_{2}$. For these values of resonances we have two subcases.

Case (4a): $r=2,2,5,-1,4,6$. In order to have arbitrary functions at $r=2$, which are $u_{2}$ and $v_{2}$, the conditions $\delta \eta_{1}+\alpha \eta_{2}=0, \delta \mu_{2}+\alpha \mu_{1}=0$ must hold. But the solutions of these violate the condition $\left(\eta_{1} \mu_{1}-\eta_{2} \mu_{2}\right) \neq 0$. The test fails.

Case (4b): $r=2,3,4,-1,4,6$. In this case we have two subclasses of (4) passing the $P$ test: The first subclass is

$$
\begin{align*}
u_{t}=\eta_{1} u_{x x x}+\eta_{2} v_{x x x}- & \frac{1}{\delta^{2}}\left[12\left(\delta \eta_{1}+\alpha \eta_{2}\right)+\alpha\left(2 \delta c_{2}+\alpha c_{3}\right)\right] u_{x} u+c_{2}\left(u_{x} v+u v_{x}\right)+c_{3} v_{x} v, \\
v_{t}= & \frac{\Gamma}{\Delta} \eta_{2} u_{x x x}+\mu_{1} v_{x x x}+\frac{\Gamma}{\Delta}\left[c_{2} u_{x} u+c_{3}\left(u_{x} v+v_{x} u\right)\right]  \tag{20}\\
& +\left\{c_{2}+\frac{2 \delta c_{3}}{\Delta}\left[6\left(\delta \mu_{1}+\alpha \eta_{2}\right)+\alpha\left(\delta c_{2}+\alpha c_{3}\right)\right]\right\} v_{x} v,
\end{align*}
$$

where

$$
\Gamma=-\alpha\left[\alpha\left(\delta c_{2}+\alpha c_{3}\right)+12 \delta \mu_{1}\right], \quad \Delta=\delta^{2}\left(\delta c_{2}+\alpha c_{3}+12 \eta_{2}\right)
$$

and

$$
\left(\delta c_{2}+\alpha c_{3}\right)\left[\delta\left(\eta_{1}-\mu_{1}\right)+2 \eta_{2} \alpha\right]+12 \eta_{2}\left(\delta \eta_{1}+\alpha \eta_{2}\right)=0 .
$$

The second subclass is

$$
\begin{align*}
u_{t}= & \eta_{1} u_{x x x}+\eta_{2} v_{x x x}-\frac{1}{\delta^{2}}\left[12\left(\delta \eta_{1}+\alpha \eta_{2}\right)+\delta c_{2} \alpha\right] u_{x} u+c_{2}\left(u_{x} v+u v_{x}\right)-\frac{\delta c_{2}}{\alpha} v_{x} v \\
v_{t}= & \frac{\alpha}{\delta}\left[\delta\left(\eta_{1}-\mu_{1}\right)+\eta_{2} \alpha\right] u_{x x x}+\mu_{1} v_{x x x}-\frac{\alpha}{\delta^{3} \eta_{2}}\left[12 \eta_{2}\left(\delta \eta_{1}+\alpha \eta_{2}\right)+\delta^{2} c_{2} \mu_{1}\right] u_{x} u  \tag{21}\\
& +\frac{c_{2} \mu_{1}}{\eta_{2}}\left(u_{x} v+v_{x} u\right)-\frac{\delta}{\eta_{2} \alpha} c_{2} v_{x} v
\end{align*}
$$

where, in both cases $u_{2}, u_{3}, u_{4}, v_{4}, u_{6}$ are arbitrary functions. If we substitute $c_{2}=a_{1}, c_{3}$ $=-a_{0}, \eta_{2}=1, \mu_{1}=\eta_{1}=0, \delta=\left(a_{0} \alpha-6\right) / a_{1}, \alpha=6 /\left(a_{0} \pm i a_{1}\right)$ the first subclass reduces to the system given in Ref. 12,

$$
\begin{align*}
& u_{t}=v_{x x x}+\left(a_{0} u+a_{1} v\right) u_{x}+\left(a_{1} u-a_{0} v\right) v_{x},  \tag{22}\\
& v_{t}=u_{x x x}+\left(a_{0} u+a_{1} v\right) v_{x}+\left(a_{0} v-a_{1} u\right) u_{x} .
\end{align*}
$$

Case (5): $r_{1}=3, r_{2}=3, r_{3}=3$. In this case test fails, since the number of resonances at $r$ $=3$ is higher than the number of arbitrary functions, which are $u_{3}$ and $v_{3}$.

In order to discuss the degenerate systems, let us assume that $\mu_{2}=\mu_{1}=0$; then from (8) we have the relation $v_{0}=\lambda u_{0}$.

We know that the roots of (8) must be integers and three of the roots are $-1,4,6$. Let the fourth root be $\sigma$. When $\sigma \neq 0$, we can choose $u_{0}=\gamma \phi_{x}^{2}$. Substituting $u_{0}$ and $v_{0}$ into Eqs. (5) and (6), we have

$$
\begin{gather*}
d_{1}=-\left(d_{2}+d_{4}+d_{3} \lambda\right) \lambda,  \tag{23}\\
\eta_{1}=-\left[12 \eta_{2} \lambda+c_{1} \gamma+\left(c_{2}+c_{4}\right) \gamma \lambda+c_{3} \gamma \lambda^{2}\right] / 12 .
\end{gather*}
$$

Together with these equations, the fourth root of (8) is

$$
\begin{equation*}
\sigma=2\left(d_{2}+d_{4}+2 d_{3} \lambda\right) /\left(d_{2}+d_{3} \lambda\right) \tag{24}
\end{equation*}
$$

which can be solved for $\lambda$,

$$
\begin{equation*}
\lambda=\left[(2-\sigma) d_{2}+2 d_{4}\right] /(\sigma-4) d_{3}, \tag{25}
\end{equation*}
$$

where $d_{3} \neq 0, \sigma \neq 4$. In this work we discuss the cases when $\sigma=1,2,3,4,5,6$ and obtained the following.

Case (dl): $r=1,-1,4,6$.

$$
\begin{gather*}
u_{t}=-c_{1} \gamma u_{x x x}+12 \eta_{2} v_{x x x}+12\left(c_{1} u+c_{4} v\right) u_{x}+12\left(c_{2} u+c_{3} v\right) v_{x},  \tag{26}\\
v_{t}=d_{4} u_{x} v-\left(2 d_{4} u-d_{3} v\right) v_{x},
\end{gather*}
$$

where $\eta_{2}=-\gamma\left(c_{2}+2 c_{4}\right) / 36, \quad c_{1}=\left(c_{2}+2 c_{4}\right) d_{4} /\left(c_{2}-c_{4}\right), \quad c_{3}=\left(c_{2}+2 c_{4}-3 d_{3}\right)\left(c_{2}-c_{4}\right) / 9 d_{4}$, $d_{2}=-2 d_{4}$, and $v_{1}, u_{4}, u_{6}$ are arbitrary.

Case (d2): $r=2,-1,4,6$.

$$
\begin{gather*}
u_{t}=-\frac{c_{1} \gamma}{12} u_{x x x}+\eta_{2} v_{x x x}+\left(c_{1} u+c_{4} v\right) u_{x}+\left(c_{2} u+c_{3} v\right) v_{x},  \tag{27}\\
v_{t}=\left(d_{2} u+d_{3} v\right) v_{x},
\end{gather*}
$$

where $d_{4}=0$ and $u_{2}, u_{4}, u_{6}$ are the arbitrary functions.
Case (d3): $r=3,-1,4,6$.

$$
\begin{gather*}
u_{t}=-\frac{c_{1} \gamma}{12} u_{x x x}+\eta_{2} v_{x x x}+\left(c_{1} u+c_{4} v\right) u_{x}+\left(c_{2} u+c_{3} v\right) v_{x}  \tag{28}\\
v_{t}=d_{4} u_{x} v+\left(2 d_{4} u+d_{3} v\right) v_{x}
\end{gather*}
$$

where $d_{2}=2 d_{4}, 12 \eta_{2} c_{1}+\gamma\left[c_{1}\left(2 c_{2}-c_{4}\right)-3 d_{4}\left(c_{2}-2 c_{4}\right)\right]=0, d_{4}\left[-12 \eta_{2}\left(c_{2}-2 c_{4}\right)+\gamma\left(c_{1} c_{3}\right.\right.$ $\left.\left.-c_{2} d_{3}+2 c_{4} d_{3}\right)\right]=0$, and $v_{3}, u_{4}, u_{6}$ are arbitrary.

Case (d4): $r=4,-1,4,6, d_{4}=d_{2}$.

$$
\begin{gather*}
u_{t}=\eta_{1} u_{x x x}+\eta_{2} v_{x x x}+c_{1} u_{x} u+c_{2}\left(u_{x} v+v_{x} u\right)+c_{3} v_{x} v,  \tag{29}\\
v_{t}=d_{1} u_{x} u+d_{2}\left(u_{x} v+v_{x} u\right)+d_{3} v_{x} v
\end{gather*}
$$

where
$c_{4}=c_{2}, \quad d_{1}=-\left(2 d_{2}+d_{3} \lambda\right) \lambda, \quad \eta_{1}=-\left[12 \eta_{2} \lambda+c_{1} \gamma+2 c_{2} \gamma \lambda+c_{3} \gamma \lambda^{2}\right] / 12, \quad$ and $\quad \gamma$ $=12 \eta_{2}\left\{d_{2}\left(d_{2}-c_{1}\right)+d_{2} \lambda\left(2 d_{3}-3 c_{2}\right)-\lambda^{2}\left[d_{3}\left(c_{2}-d_{3}\right)+2 c_{3} d_{2}\right]-c_{3} d_{3} \lambda^{3}\right\} /\left\{c_{1} c_{2} d_{2}\right.$ $\left.+2 d_{2} \lambda\left(c_{1} c_{3}+c_{2}^{2}\right)+c_{3} \lambda^{2}\left(c_{1} d_{3}+5 c_{2} d_{2}\right)+2 c_{3} \lambda^{3}\left(c_{2} d_{3}+c_{3} d_{2}\right)+c_{3}^{2} d_{3} \lambda^{4}\right\}, u_{4}, v_{4}, u_{6}$ are arbitrary.

As a special case, if $\lambda=0, c_{2}=d_{3}=0, d_{2}=c_{3}=2, c_{1}=6, \eta_{2}=0, \gamma=-2$, the set of equations (30) reduces to the one given by Ito, ${ }^{3}$

$$
\begin{gather*}
u_{t}=u_{x x x}+6 u_{x} u+2 v_{x} v,  \tag{30}\\
v_{t}=2(u v)_{x} .
\end{gather*}
$$

Case (d5): $r=5,-1,4,6$. In this case we have two subclasses passing the $P$ test: The first one is

$$
\begin{gather*}
u_{t}=-\frac{c_{1} \gamma}{12} u_{x x x}+\eta_{2} v_{x x x}+\left(c_{1} u+c_{4} v\right) u_{x}+\left(c_{2} u+c_{3} v\right) v_{x}  \tag{31}\\
v_{t}=d_{4} u_{x} v+\left(d_{2} u+d_{3} v\right) v_{x}
\end{gather*}
$$

where $d_{4}=3 d_{2} / 2, \lambda=0$, and the second one is

$$
\begin{gather*}
u_{t}=\frac{1}{12 d_{3}^{2}}\left[\left(12 \eta_{2}+c_{4} \gamma\right)\left(3 d_{2}-2 d_{4}\right) d_{3}-\left(3 d_{2}-2 d_{4}\right)^{2} c_{3} \gamma-3 d_{3}^{2} \gamma\left(d_{2}-d_{4}\right)\right] u_{x x x}+\eta_{2} v_{x x x} \\
+\frac{1}{d_{3}}\left\{\left[\left(3 d_{2}-2 d_{4}\right) c_{2}+3 d_{3}\left(d_{2}-d_{4}\right)\right] u+c_{4} d_{3} v\right\} u_{x}+\left(c_{2} u+c_{3} v\right) v_{x}  \tag{32}\\
v_{t}=-\frac{1}{d_{3}}\left[\left(3 d_{2}-2 d_{4}\right)\left(2 d_{2}-3 d_{4}\right) u-d_{4} d_{3} v\right] u_{x}+\left(d_{2} u+d_{3} v\right) v_{x}
\end{gather*}
$$

where, in both cases, $u_{4}, u_{5}, u_{6}$ are arbitrary.
Case (d6): $r=6,-1,4,6$.

$$
\begin{align*}
u_{t}= & -\frac{\gamma}{12 d_{3}}\left[c_{1} d_{3}+\left(c_{2}-2 c_{4}\right)\left(2 d_{2}-d_{4}\right)\right] u_{x x x}+\frac{\gamma}{12 d_{3}}\left[\left(c_{4}-2 c_{2}\right) d_{3}+\left(2 d_{2}-d_{4}\right) c_{3}\right] v_{x x x} \\
& +\left(c_{1} u+c_{4} v\right) u_{x}+\left(c_{2} u+c_{3} v\right) v_{x} \tag{33}
\end{align*}
$$

$$
v_{t}=-\frac{1}{d_{3}}\left[\left(2 d_{2}-d_{4}\right)\left(d_{2}-2 d_{4}\right) u-d_{4} d_{3} v\right] u_{x}+\left(d_{2} u+d_{3} v\right) v_{x}
$$

where $v_{4}, u_{6}, v_{6}$ are arbitrary.

## III. SUMMARY

We found new coupled system of equations having the Painleve property. Some of them reduce to the known equations by special choice of parameters. Some of these systems may be related by simple transformations. Furthermore, the problem studied in this work may be considered in the framework of the perturbative Painlevé approach given in Ref. 15. In most cases the recursion relations and the expressions for $u_{j}$ and $v_{j}$ are very extensive, and therefore are not given in this work.

## ACKNOWLEDGMENTS

I would like to thank Professor M. Gürses for suggesting the problem and for useful discussions, and the referee for helpful comments. This work is partially supported by the Scientific and Technical Research Council of Turkey (TUBITAK).
${ }^{1}$ R. Hirota and J. Satsuma, ''Soliton solutions of coupled Korteweg-de Vries equation,' 'Phys. Lett. A 85, 407 (1981).
${ }^{2}$ R. Dodd and A. Fordy, 'On the integrability of a system of coupled KdV equations,'" Phys. Lett. A 89, 168-170 (1982).
${ }^{3}$ M. Ito, 'Symmetries and conservation laws of a coupled nonlinear wave equation,"' Phys. Lett. A 91, 335-338 (1982).
${ }^{4}$ B. A. Kupershmidt, "A coupled Korteweg-de Vries equation with dispersion," J. Phys. A 18, L571-L573 (1985).
${ }^{5}$ C. Athorne and A. P. Fordy, "Generalized KdV and MKdV equations associated with symmetric spaces,' J. Phys. A 20, 1377-1386 (1987).
${ }^{6}$ M. Antonowicz and A. P. Fordy, '"Coupled KdV equations with multi-Hamiltonian structures,'’ Physica D 28, 345-357 (1987).
${ }^{7}$ Ö. Oguz, 'A canonical Lagrangian formalizm of multicomponent KdV equations,'’ Preprint, 1995.
${ }^{8}$ B. Fuchssteiner, '"The Lie algebra structure of degenerate Hamiltonian and bi-Hamiltonian systems,'’ Prog. Theor. Phys. 68, 1082-1104 (1982).
${ }^{9}$ S. I. Svinolupov, "Jordan algebras and generalized Korteweg-de Vries equations," Theor. Mat. Fiz. 87, 391-400 (1991).
${ }^{10}$ S. I. Svinolupov, 'JJordan algebras and integrable systems," Funct. Anal. Appl. 27, 257-265 (1994).
${ }^{11}$ A. (Kalkanli) Karasu, 'Jordan KdV systems and Painlevé property," Int. J. Theor. Phys. 36, 705-713 (1997).
${ }^{12}$ M. Gürses and A. Karasu, ''Degenerate Svinolupov KdV systems,'" Phys. Lett. A 214, 21-26 (1996).
${ }^{13}$ J. Weiss, M. Tabor, and G. Carnevale, 'The Painlevé property for partial differential equations,' J. Math. Phys. 24, 522-526 (1983).
${ }^{14}$ J. Weiss, '"The sine-Gordon equations: Complete and partial integrability," J. Math. Phys. 25, 2226-2235 (1984).
${ }^{15}$ R. Conte, A. P. Fordy, and A. Pickering, 'A perturbative Painlevé approach to nonlinear differential equations,' Physica D 69, 33-58 (1993).

